Paper: B.E_B.Tech

Set Name: |SET 30

Exam Date: | 30 July 2022

Exam Shift: | 2

Langauge: |Marathi

Topic: Physics-Section A
Item No: 1

Question ID: 15477154561
Question Type: | MCQ

Question: SR YR (1) ., 1T 3911 (K) G YR (Q) FiHT Hayd =i Ted ar Wfdkd i
A [K'QI]

B: [KIQ™]

C: [KQI™']

D: [& ot

Topic: Physics-Section A

Item No: 2

Question ID: 15477154562

Question Type: | MCQ

UHT IR AFTGR AT BT ol ¢ SFPH 16 m/s T 20 m/s ITH UHHBIHS
Ud H1Bd. Sl d 200 m G 39 dg] i s T HDIHT Urgdrd ST

Question: CopIq] UPhTd dod] sich AIadld. SR TP A 2 m/s> = 3{ddiNd sidl U TH B
38 2

A: 14m

B: 114 m

C: 86 m

D: 64 m

Topic: Physics-Section A

Item No: 3

Question ID: 15477154563

Question Type: | MCQ

Question:

10 UH GEIHFTEI U T, 1 ke TEGHMTAT §GHITH 100 m/s G SATScl T,
aﬁ?ﬂ yidfernd a7 m/'s i
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Topic: Physics-Section A
Item No: 4
Question ID: 15477154564
Question Type: | MCQ
U g% faRigd FOR= U1 TP 0.5 ke@XqHM dAlaad 3Te. ST
Question: ﬁﬂ%aﬁlma@ww 800 N/m HTe. ST Us eleb R ST &
' iadl faferamieR. T 20 rad/s B =T § IEGHM fthrd
e, i dididiaads el
A: 1m
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4
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C: —m
3
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5
Topic: Physics-Section A
Item No: 5
Question ID: 15477154565
Question Type: | MCQ

ST YETETd "X U8l Sfaqdid 8 ay 3i1g. mqa‘ftmﬁ 3R

Question:
15«10 m 36 XUSH PWIRFE IR
A: 342 %101 m
B: 3x10lm
C: 6101 m
D: 12 %101 m
Topic: Physics-Section A
Item No: 6
Question ID: 15477154566




Question Type:

MCQ

M GKHFEI U 3l o] dRY STSHadl g, (3Tl UgT) . dR=l a3l WAl
a1 g QIerdT YT disdrE 3178, Gel U $Iewq aahe JHMH 8. R
A 710G HFF Wi d disar=a1 dRiFd e dome
TR__3fe.
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Topic: Physics-Section A
Item No: 7
Question ID: 15477154567
Question Type: | MCQ

®HIcd G Y9ar=al Py 227°Cd 127°C dAYHHIEL &1 S o8,

Question: SR SHITEHAF Ui =9ep 1.04 x 10° T B el R IRY HaIb g Hic Ieb M
Udodai H™ 3.

A: 2.08 x 10*71

B: 1.04 % 10°J

C: 520%10° 7T

D: 236 x10° 1

Topic: Physics-Section A

Iltem No:

8




Question ID: 15477154568

Question Type: | MCQ

Ouestion. SR T Ao o aiaTe ayes =1 SfEm (56 ™/ . SR aR A
T AYHHERN A 4! FHE g ard 3T,

A: g2 m/

B: 8Myg

C: 16™M/g

D: LTS

Topic: Physics-Section A

Item No: 9

Question ID: 15477154569

Question Type: | MCQ

HAADTA T, HIAAT TPT B T TRD AP 2.5 %ﬂ?ﬂlﬁﬂ?m

Question:
ferene Saa 315, dadrEl [ adid STau®Td --------- 3. (Gadi g =)
A: T,
2
B: 3; To
C £ T
. ‘JE (8]
D: E
4
Topic: Physics-Section A
Item No: 10
Question ID: 154771545610
Question Type: | MCQ

'L'ﬁaﬁwwmqmmmﬂmﬁ?ﬂﬁﬁaﬂawﬁn% Jrarar

Question: TR aTehadl . Il Sfefadel=dl halag aX agR eIl f[dyd
éﬂ%ﬁﬁmﬁ 3.
q
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q
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Topic: Physics-Section A
Item No: 11
Question ID: 154771545611
Question Type: | MCQ

fererenn uRuyTa Sediq Uact SuRT faggd ¥RT (1)

30
A
Question:
A: 5A
B: 6A
C: TA
D: BA
Topic: Physics-Section A
Item No: 12
Question ID: 154771545612
Question Type: | MCQ

U1 Ydddl 9RUUT , Vd 1 GIeauATl gRaad 3ed.
V =250 sin (100 t) BIeC

Question: 1=10sin(100t+ Z)A
gRuyTdie Sarehd fed 3%
A 2500 W
B: 625 W
C: 1250 W
D: 62542 W
Topic: Physics-Section A
Item No: 13
Question ID: 154771545613
Question Type: | MCQ




Wﬂﬂ?ﬂﬂﬁﬂﬂﬂﬂﬂﬁﬁﬂ'ﬂﬂaﬁ SAPTRITGH FHIRd sIdl. Al faqgd &=m

question: | TRISER 000 1R, AT BT AT TRAVIR 3.
A: OpuT

B: 27 uT

C: 3puT

D: 270 GT

Topic: Physics-Section A

Item No: 14

Question ID: 154771545614

Question Type: | MCQ

P, d P, &1 UleRI5 S UBTHSBHT HHITR &ad 3Med 1, digddl HH1Sl

Question: P, UIeR1$S HY WAl 9 R P, GIARISSHY SIdl. SR 31T P, 60° I
fPRac TR P, WY S5 U] WebTIT=i1 dilgrll 3R
A: [—“
2
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4
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D: -lﬂ-D—
8
Topic: Physics-Section A
Item No: 15
Question ID: 154771545615
Question Type: | MCQ

8§ m TG IR AIHaT y-z Hadld aq@PR $Sd TR bl 0.5 AT R

Question:
gfaciad argd.ana [gYd Ul fdhaa 3Te.
A: 87 Am?
B: E; A m?
¥ 1
C: —4ni Am?
4ni Am?
Topic: Physics-Section A
Item No: 16
Question ID: 154771545616




Question Type:

MCQ
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Question:
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I
C: Ho (§n+1)
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I
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4R\ 2
Topic: Physics-Section A
Iltem No: 17
Question ID: 154771545617
Question Type: | MCQ

TS o AT SUaeaTs! 81T SifcHRUME HGHA a19%- ool B!

Question: 5 : 2 :
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Topic: Physics-Section A
Item No: 18
Question ID: 154771545618
Question Type: | MCQ




Iima) |

= V{volt)
of /
Question: /
qiel 3pdid Sraaetdl 1-V A&l it Hefdd e,
A: wiarml sifdldia yer s/ars
B: QR SN HDT Iol S1aTS
C: SR sals
D: IR Ue
Topic: Physics-Section A
Item No: 19
Question ID: 154771545619
Question Type: | MCQ
Question: 15056 V fayaicR= @RIV Sdedl saag gl Sl- STl aeiraia!
A: 0.1A
B: 1A
C: 10 A
D: 100 A
Topic: Physics-Section A
Item No: 20
Question ID: 154771545620
Question Type: | MCQ

Question:

UHT WHYIR ATaRafdd dame @rdid g e
dIe® Uedh =5 V R gy

{4 ursjuz ged=2.5 v RReR g
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Topic:

Physics-Section B

Iltem No:

21

Question ID:

154771545621

Question Type:

Numeric Answer

UahT i YRR HI=r=] U= S| Huli=T [dfdRurmaT TRt &,
STHT BUMA] 3.2 Mev TS I99d @RIV $dl. Jasd

Question: Al (Z = 79) gl sl el « 10716 m 3T,
)
Nm-~
(e —9x10° —
41 = =
o
Topic: Physics-Section B
Iltem No: 22
Question ID: 154771545622

Question Type:

Numeric Answer

3YGAI® SHH 1.0,2.0.3.0T 4.0 T IR MTHHUNG Ga-1 HReiedT TaT
Question: mm@ﬁmmm%ﬁﬁaﬁ?wﬁ 3P 10 em, 20
cm. 30 em. @ 40 39X AHIdd 3Ted. oo dlied H9d] Heara! THET @l
em 3.
Topic: Physics-Section B
Item No: 23
Question ID: 154771545623

Question Type:

Numeric Answer

UHILCR URUMANT L=10mH. C =25 ufd R =100 Q. 35 d A A1 ah g

Question: :
leedl V(t) = 200 sin2000 t Glee [Gaidl 3Me. URTUET IR Q 3Te.

Topic: Physics-Section B

Item No: 24

Question ID: 154771545624

Question Type:

Numeric Answer

U °C 4 QYN t dedd U YR UIdad! d Hax ddedid t dedd 819 16 Q

Question: RIYTI YT UTSadl. SR Sl UiHe TaR IR Il 94 38 X Uerl
AARSIAY_ 0 %,

Topic: Physics-Section B

Item No: 25

Question ID: 154771545625

Question Type:

Numeric Answer
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318, P, 9 P, Uguineiel fafted _a P, 3TI0T P, Heliel fayed— d 311,

fecied GE=uTH Taded uilRkdr uF 38,
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Topic: Physics-Section B

Iltem No: 26

Question ID: 154771545626

Question Type: | Numeric Answer

I3 HTad Teidid Uehl SuTal AT a7 20 em s~ 318 1701 HIUrcdrs!

Question: :

U1 HfcH R @RUT 25 em 72 31T TT HUMET TRAYIR____ cm 3.
Topic: Physics-Section B
Item No: 27

Question ID: 154771545627

Question Type: | Numeric Answer

1 em F0=01 U1 YSTURIH 8 I e 49 R ATe. 9Iogr=Er gyig amor

Question:

0.075 Nm ~! 3718, g¥1g Ioldid a8 <1077 J 31Tg.
Topic: Physics-Section B
Item No: 28

Question ID: 154771545628

Question Type: | Numeric Answer

10 kg TREAF @ 50 cm o0 U@ TAUA TP 360 rpm S YUH Hd TG,
Question: fﬂﬁﬁ@ﬁwmwéﬂgﬁw ﬂﬁlﬁﬂﬂhﬁ&ﬁ?ﬁ’lﬁ
YTGAUIRITS! AR Hed Y0 xnr Nm3g. « i fdAd 38,

Topic: Physics-Section B

Item No: 29




Question ID:

154771545629

Question Type:

Numeric Answer

THT [ [eA1d UEHITIERA 20 ms™! ATeH &SR SRl U 9% g H
URTITE faUTTSTd §id 101 T fa=ITe Sl =1e] dad. Sl YT aXH 1:2

Question: | UrRTA Sf1R. BICT HITT 30 ms™L. TR SIS Soidie sruiier® saa .
X
e, x I A 3G
Topic: Physics-Section B
Item No: 30
Question ID: | 154771545630

Question Type:

Numeric Answer

ferorgafae=lt 15°T 45° BF T4 I IAH o V8 THHG He had
TR0, &lel H&@iH! SIYcled A STaHIaR SR d RE 80 m 3%,

Question: Y& HRY 91  ms™! 3T
[l g =10 ms™]

Topic: Chemistry-Section A

Item No: 31

Question ID: | 154771545631

Question Type: | MCQ

AMuHTE 4 a1d glid 3R TUIeH of 3163 arg arTu)iburg Jdid S (g

Question: B S eﬂ_@

A: 100° C 30T 8 atm
B: 100° C 30T 4 atm.
C: —100° C 31U 8 atm
D: 0°C 31101 4 atm
Topic: Chemistry-Section A
Item No: 32

Question ID: 154771545632
Question Type: | MCQ

STegT Uep geidgi- = Tifdet St 739e aredell R @remsit dd fS- siiveit

Question: R S f@’a‘ﬂ
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Topic: Chemistry-Section A
Item No: 33

Question ID: 154771545633
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 34
Question ID: 154771545634
Question Type: | MCQ




Tha Siorg TR JHaTgRe (Fed- deuia) i:K-cl"ﬂ.@mﬂﬂaﬂﬂnﬁ
el ST1dl. &1 FHIBRUIR YR SR Pledd F5hy R

(A) Bicgl 1=, ST § e d=T=d1 YHYHTUN 318,

B)SIGT 1/ =0, SRR § HEAIAR Sfadg el

Question:
(C) WIGgT n= 0. x/m vs C I 3G {8 U 5 0T 3G <ft x &I JHIR
g
(D) ST n = 0. x/m vs CII HTelRg U d 3TG.
Gau®] aRieR Ay Hasr

A: (A) 3107 B) o

B: (B) 10T (D) Wkl

C: (B). (C) AU (D) ek

D: (A). (B) U1 (C) Bad

Topic: Chemistry-Section A

Iltem No: 35

Question ID: 154771545635

Question Type: | MCQ

yrad grufrardt @reiade! et faur @3 3.
A TICTHE] GRI&UT aT@d Oild.
B: adiae ufeeu diggul ared.

Question:
C: TTCTd ATall SiTd 3Gl G- T edl aied Sirdrd.
D: SUSCBUIdN TTETd @Iel oiid 3{¥dl 41 8id Sl
GTaiid JagiEe SRR 3R Has!

A: B. C 30T E Bkl

B: A. D, 31Ul E B

C: A. C.D 31U E Sad

D: A. D 31U E e

Topic: Chemistry-Section A

Item No: 36




Question ID:

154771545636

Question Type:

MCQ

A€l 1 A1~ 11 SRIER el

qrdt 1 it 11
A TS S URd I ST UTaeT ol
Question: B. Th qUUINT O%ad I1. Ty
C. Bid gilce U%d 111.ZnS d ST
D. A8 UEd IV. Aud HEHET
GIAEUS | qaigimyE sRieR 3R Has! :
A A-IV, B-IIL, C-II. D-I
B: A-1, B-II, C-II1, D-IV
C: A-TI, B-IIL, C-TV, D-I
D: A-TIL, B-I, C-1V, D-1
Topic: Chemistry-Section A
Item No: 37
Question ID: 154771545637
Question Type: | MCQ

qIUaTd TS § UEHl CaCO; YHIENT GiRid PRdld YT 3l HRUl @Tel facidl ed :
(A) T UG GEH 100 3Tg, A 0 1Y WId .
(B) d 1200 K &1 fdue giad

Question:
(C) d guarg favdesd Arel.
(D) O HTGdl AHdeARId e,
Wiads! axie yaig fHAasr,

A: (A) 3101 (B) Bkl

B: (A) T (D) B

C: (B) 1T (D) o

D: (A). (B). MU (C) e

Topic: Chemistry-Section A

Item No: 38

Question ID: 154771545638




Question Type:

MCQ

Question: ST oIS Se9ga uied =l Saeiid axier od 38
KF > KI

B: SnCly = 8SnCl,

C: KF > LiF

D: NaCl = HCl

Topic: Chemistry-Section A

Item No: 39

Question ID: 154771545639

Question Type: | MCQ

E° (volt) el 318 : A’/ Al — 1.66, Sc*7/Se., —2.08: Fe>7/Fe?™,

Question: +0.77, Hg,> /Hg, +0.79. AP¥", Sc¢*™, Fe?™ M0l Hg,?™ &1 derd-i=ar
SHTferag-T=g1 YfckT=T Gedl & H .

A: AP >8c3 > Fe > Hg, 2"

B: Hg,”" >Fe*" > 85" > APT

C: Hg,” > Fe*™ > AP > 57

D: ST = AP T >FdT > ngz_

Topic: Chemistry-Section A

Item No: 40

Question ID: 154771545640

Question Type: | MCQ

Co*~ =T 5 9 G Wi SPEl SIlaiae +, TR SIshH STide-ae Gl 3T .

Question: m@f&ﬂ%ﬂ-}lﬁ? )
A: 6 STI0T 3

B: 6 30T 4

C: 3 3107 4

D: 4 30T 6

Topic: Chemistry-Section A

Item No: 41

Question ID: 154771545641

Question Type: | MCQ

Question:

USRS = @daus! Sl U6 Ued ATel?

A:

T




B: I TfEdia Arace

C: Tafed siadgs
D: e SHIFES
Topic: Chemistry-Section A
Item No: 42

Question ID: 154771545642

Question Type: | MCQ

Question: aIg SERTe SRIGR Hie- AU FRRie avles rdl dsd
A: TLC 9&&ql

B: P! gETe JE A

C: el Fpyu

D: THe D IpUl

Topic: Chemistry-Section A

Iltem No: 43

Question ID: 154771545643

Question Type: | MCQ

Question: | aTCleTaIoR) FHIURT AR e

A: ‘|

« O

. ©

Topic: Chemistry-Section A

Item No: 44

Question ID: 154771545644

Question Type: | MCQ

graiie ffpddia vaE Sdre e

Question: OH
AT
O

NaHCO3




Iﬁ
A:
5 0

I o =0

I
¢ % i
(IL
N I\/><-\i | - OH
O
Topic: Chemistry-Section A
Item No: 45
Question ID: 154771545645
Question Type: | MCQ
Br COOH

Question: @ @

aRd SATEa! SRR M USRS UIqudr=T $H 3Tg-
A: (i) Mg (i) CO, Foid SR (iii) H,0
B: (1) NaOH (11) C,H;OH (111) HCI
C: (1) NaCN (11) H,O (111) HCI
D: (1) KMnO, (11) HCI
Topic: Chemistry-Section A
Item No: 46
Question ID: 154771545646
Question Type: | MCQ

BIPHA SIS S faue= sififear are- |refiaie! Sivrn UeT Sgm

Question: g
el wifed giga?
CH,CONH,
A:
NH — Me
B:




0

C:
NH,

NH,
- ©
Topic: Chemistry-Section A
Item No: 47
Question ID: 154771545647
Question Type: | MCQ

N;CIr NIBE; NO,
Y
2 > Ugd 3dIg

Question: @ @ Cu, A @ ( )

faeiell ITEFTe Siflferar Tamd &, X 30T v e,
A: X=BF; Y=HNO;
B: X=HBF, Y=NaNO,
C: X =HBF, Y=HNO;
D: X=BF; Y=NaNO,
Topic: Chemistry-Section A
Iltem No: 48
Question ID: 154771545648
Question Type: | MCQ

Gl i faur feael smed.

fqu™ 1. A9 6 I8 HUcacH § ThalRD Uhd 35
Question:

fqum 1. IE 6 9 U diNeG Uhe Aldilodsi—- U JNd SHdrd

R fecienT faeT=i=a1 UehTed. Wiciid giameH Siedrd arg 3w Fasl,
A: gl fau 19 fau™ 11 sRieR 3ied .
B: <igl faur 19 faur 1 it 3gd .
C: e 1 SRISR R faur 11 go i 3Te.
D: fae 1 gl o faur 11 sRisRafTe.
Topic: Chemistry-Section A

Iltem No:

49




Question ID: 154771545649
Question Type: | MCQ
@t g faem feadr smed.

fau 1.7 o § U S SR S&el SEd UlekiaRgs Mg Il
AT SRS =] Hddes. ATl Wit T S gaeard.

Question:
AU I1: SMAEas 9vgid faRged Al 10 4 Sa@eae 15-20% el
HIT 3.
o fecienT faumi=aT Ued, |idid TaaHYH Siedrd drg 3w Fasl,
A: glol f[ayM 19 fauH I SRR 3HTed .
B: &gl fayT 19 faur 11 gl 3med .
C: fau™ 1 SRR Wi f[auH 1 IPH 3118,
D: faer 1 9eie udg faur 1 sRIsR 3fTe.
Topic: Chemistry-Section A
Item No: 50
Question ID: 154771545650
Question Type: | MCQ
, NO,;~ AT gad IrEufidid diEsT=a sidlardia sifaas 3
Question:
[Fe(H,0):NOJSO, (@Ufdl aed) 3%,
A: +2
B: +1
C: +3
D: +5
Topic: Chemistry-Section B
Item No: 51
Question ID: 154771545651

Question Type:

Numeric Answer

4 T NaOH =1 Z1GUME! 9701 1.160 g mL~! 3T STG0ME! HieRdl M 3Tg.

Question:
(fecicl 3M1%: NaOH d Y0419 G&IHM = 40g mol™)(Sides el YUITdhId)
Topic: Chemistry-Section B
Item No: 52
Question ID: 154771545652

Question Type:

Numeric Answer




MO RIEAFER @I 0]/ STdue! sUPicl 4F sradeid el 3

Question:

05,0, . 8,5 €5 B,
Topic: Chemistry-Section B
Item No: 53
Question ID: 154771545653

Question Type:

Numeric Answer

31 g SUICH TIEDIT 500 ¢ UTUANd (Yoo d, SIferd SIuIl TMavl fag

K. 35, (Slaea] quiiaTd) (K, 9Tt = 1.86 K kg mol™)

Question:
[RU[G&IHM C. H, O 3T&d 12. 1. 16 3HIhH]
Topic: Chemistry-Section B
Item No: 54
Question ID: 154771545654

Question Type:

Numeric Answer

50ml 0.1 M CH;COOH 9 0.1 M NaOH SRIR 3fJHT0- bl

Sl 10 ml NaOH HTdd dogl SIaulrEl pH x 1071, SITe (Slaeo=an
Question: qc-\ﬂm
Gad 3118 ; pKa (CH;COOH)=4.8.log2=10.3
Topic: Chemistry-Section B
Item No: 55
Question ID: 154771545655

Question Type:

Numeric Answer

ST 9eRBT Zn(s) | Zn?™ (Cp. M) || Zn 27(C, M) | Zn(s) FIed J&t

Question: c,
I5T (AG) LI AR - TR 38,
Topic: Chemistry-Section B
Item No: 56
Question ID: | 154771545656

Question Type:

Numeric Answer




X—=Y+7

X9 700 K @ fa9e 81 Y 3MfUT Z 9OR 8id. S A9 TR 3ed

Question: X 3 QA T8 / (molL) 6.0 12.0
YTY BT/ s 1.0 2.0
= me! Mo RIS 3{T5. (A Ushep Hel)

Topic: Chemistry-Section B

Item No: 57

Question ID: | 154771545657

Question Type:

Numeric Answer

aTell faetel Y0] / 311 & .

Question:
sp°d BT ATl 0] /ST I=a] S sp® HepRUl HATered] X0] / Sl
Topic: Chemistry-Section B
Item No: 58
Question ID: 154771545658

Question Type:

Numeric Answer

3.
Question: it (_:02_. NiZ*, cu?t, oo, Tit, Zn??, 83T
HU[ 3D .
Sc, 21; T1, 22; Co, 27; N1, 28; Cu, 29; Zn, 30
Topic: Chemistry-Section B
Item No: 59
Question ID: 154771545659

Question Type:

Numeric Answer

of WfSTH YTqEad SfHiar <d eld (= GAgH Bad) CsH;q0,, &

Question: G
XU AT Wa Sl SHYHl e TR
Topic: Chemistry-Section B
Item No: 60
Question ID: 154771545660

Question Type:

Numeric Answer




CoHye YU G MU @Tel! faded] Srgidra /4 Ul &m?r%rﬁf
GICRgH IRAYC Tiad kb IRET Sd1G SUTRgiE! S

Question: : i :
Topic: Mathematics-Section A
Item No: 61
Question ID: 154771545661
Question Type: | MCQ
Question: Ol f: 2-{5} — 2.3 3% ol ol AR B £(x ;_Li‘z WSE £
A: TS UE J A=3lad.
B: U TS W SS15P ATg).
C: BT Ui UHY U el
D: UHTH U Ul A6l 9 315D e! o],
Topic: Mathematics-Section A
Item No: 62
Question ID: 154771545662
Question Type: | MCQ

YA 2y = 1+ 21.2y=2 40, —+—=2 . 2=

Z]_ 22 W L—W

@rdite fayr faemrra =i,

Question: (S1) |z| o1
7
o S

(S5) arg(z)+ arg(w) = tan | 2 ‘

X
A: Gl (S1) T (S,) TP SMTed.
B: B (S,) SRIEY 38,
C: B (S,) SRIET 8.
D: Gl (S;) 9 (S,) Sl 3MTed.




Topic:

Mathematics-Section A

Item No: 63
Question ID: 154771545663
Question Type: | MCQ

gl

X +ty—z=-1

Question:
- s
1 JHIH0T YU 3 IPall S R (. +2u, 2+ p) 9 (1, 2p) U1 fdgqT
ST S HH e e,
A 4x — 6y =-5
B: 2x—-2y=15
C: 2x—2y=-1
D: 4x+6y=35
Topic: Mathematics-Section A
Item No: 64
Question ID: 154771545664
Question Type: | MCQ
| Wdﬁpf@ﬂ'ﬂmﬁerﬂ%a[é f“[i ﬂ:[é ?].mmam%
Question: d d
Al ax” + bx + 3 = 0 TguTdl GHIHUT=A1 Shell ST TR a+b—ab= .
A: —34
B: 50
C: -390
D: 438
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Question ID: 154771545665
Question Type: | MCQ
Question: ”_1C4—”_1 Cy —3 ”’2332{ 0 HIUIT »» =T G fbHcT! axiol 3Te.
A: 40
B: 45
C: 55




D:

56

Topic: Mathematics-Section A
Item No: 66

Question ID: 154771545666
Question Type: | MCQ

(1+2x)2022 4 2x (1 + 20792 + 2x)% (1 + 202020 + .. + (2222 7 ORI

Question:
x 1011 =7 ge U 3.

A: 2022C1011
B: 2022 n (2)1011

: 2023 1011
C: Cro11 % (2)

i 2023
D: Cron1
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Question Type: | MCQ

o = 1 PR, FHS 5% 29, 63, 52~ 1 § 30! FTd 3R e AHED

Question: WP d 8. o 8 UsIdl UG 9 d B HHI5 D BReb U] U] B0 Fe =
Uoledl n UGIH €91 S, 3178, B S35 — S5 = 30k. TR k= .
A 715
B: 695
C: 684
D: 683
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Question ID: 154771545668
Question Type: | MCQ
Question: 2 = M =
=1 I
A Zie Ty
B: 211
C: 26+9
D: 2(e+1)

Topic:

Mathematics-Section A




Item No: 69
Question ID: 154771545669
Question Type: | MCQ
HHGT
sin(ere + 3x) +sinx .
x
2 x=10
f)=
Question: 1 1
: 3
(x+5bx2} —x3 o
4/ x
- 3x73
%x=nau—\ﬂm¥iﬁﬂa+1%.a?g_k}f[%)=ag}.an= .
A: -6
B: 15
C: -13
D: 8
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Question Type: | MCQ

2x
Question: Ol y(x)=tanx— J (x2—xr+Dsintdr ¥ x= 2 Haidl 2y — =
0
A: 158
B: 159443
C: 126
D: 1274453
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Question ID: 154771545671
Question Type: | MCQ
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20
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Question ID: 154771545672
Question Type: | MCQ
" n(n” +k?
Question: Iimz 4( R )4 = s
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N 2
o
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Question ID: 154771545673
Question Type: | MCQ

Gl?y=y(x]%_my+[mn(f_‘;)_deng.xramﬁammwwﬁrwm

Question:
TR AT YD = R p(42) = ;
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A A
3
B:
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1
C:
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Question ID: 154771545674
Question Type: | MCQ
T i = —2 b> 0. y(5) =0 T fadas JHIHRUME SHd ab 3 = p(x) 7
Question: mﬂﬁﬁwwﬁzﬂmmm TS y = 3(x) aaﬁ; Y PAQ
fdgd Wadl. oR y = y(x) GIal P d © fdgd Bleciedr Wiid! 1 fdgd &ad
T R APTQ © 8aH® e
A: 13.5
B: 13
C: 14.5
D: 15
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Question ID: 154771545675
Question Type: | MCQ
32
SIX U ;2_2 ¥ ﬁfﬁl 5 =1 gieg T Th e Sl @
Question:
(0.£+0) " it SRyoTT @
(a. a+ 1) TS STUM=AT YA Sl 3G
2
B: @2
c. 3
' 5
D: §
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Question Type: | MCQ

TSN 32 = b T vy = -1 U1 AHI AHES WD SRF AT da L g, Rk
2

Question:
Gt Ueb! HIUTAT SARTATd SHUIR A8 l?
(2. 4]

B: (-3, 1)
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Question ID: 154771545677
Question Type: | MCQ

T ax + by +ez+3=08 HqW 2x—y—2z+3=07

Question: | 5 2y + 62+ 8 = 0 U TAGHHNT TUHH U, TRa+ b +c = .
=31

B: 28

C: i—:

D: —28
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Question ID: | 154771545678

Question Type: | MCQ
x| 0—=10 10-20 20 —-30 30-40 40-30

Question: A 3 2 Z a l =
T YR Aed T HEOS FHH SR R p? =

A: 54

B: 80

C: 100
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Question Type: | MCQ

&iiciTol FHIAR UTdosId S¥ciedl UATONd 341 Sacedl H--arAT 3R STofel
3T A fagureit 3w srciedn eafad=r H=I=T= P Al Sib el SIVIRT 39d

Question: DI 45° 315, THRI il B B A T YA 50 m HRTGR 3T 318, TR B =1
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Question Type: | MCQ

Question: FToia Gt HI0Td faem Jfaard e?
(~pIVvg)=~(p=q)

B: (~@=g)A(~p)
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D: (~p)A(~q)
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X2+ 3x+2 +x+5—2=0,x € = O GHIGHOT] IS drdr el
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_ [xz 5 2+i\i_3 (1452 ]4{} =1 [GERTAd 20 =1 He Ui =T f[gHISiTdia fgdiz
Question: x2) N J
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203 — 32— 12x + b = 0 1 FHISRONEI <fiF IRATG Heb SRId aR b =1 gulies
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SARTUNAT YT=dl U=AT &A%e HHId DI UGS ATl Gl x = x;, HieX
AT 16 (xp)* = .
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Question:
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